A// K&EY & 1 5215 > 4 > 7 (Best15)

2023/07/09 55

20234 F49E BAHANL—R—ILKELXFEFERS
VIYVIRER N\ OoF7FYIED) Ba (¥ER)

# | T - #* | & 7 EAR N
= K% 7ot | B §§z g 181 % = . K% Fos% | B g ; 2 IR
1|wr E= EEAhEAE 1 | 3 2 5 | 1 | 625 e mEgmAs 3 | 1 66 1| 3 70
2 |mat % mEmEks 1 | 5 a6 | 27| 3 | s8.7 2 |k 7& Ak 3 | 13 57 2 | o 59
JEFELS mmmakzl 1| 5 23 12| 1| 522 2 |E tam EaKE 3 | 13 52 4 | 3 59
4 |mm B ke 1| 3 28 14 | o | s0.0 4| me wmEwxz | 2 | 10| 52 2 | 2 56
5 |48 s wmEAs | 2 | 10| 106 | 52 | 7 | 401 4 |meb g mEgaAz 3 | 1 48 5 | 3 56
6 |z = Ak 1| 3 31 15 | 2 | 8.4 4 =% AIER Ak 3 | 13 45 5 | 6 56
7 |mm@ mw EaKE 3 | 13 8a | 30 | 6 | 46.4 7|mm B EAKE 3 | 13 39 6 | 1 46
8 [mn == EERAEAZE 1 | 3 25 1| 1| a0 8 | BT mEgAZ 3 | 1 38 2 | o 40
9 |2F mE mELAE | 2 | 9 32 14| o | 438 9 | BR wmELlkz | 2 | 10| 32 0o | 1 33
10|z #7 ks 1| 3 a4 19 | 1| a2 10| eE 2E maERE | 2 | 6 25 3 | 1 29
11|25 £ EaKE 3 | 13| 122 | 52| 6 | 426 NECE S mrEmnkz 1 | 5 27 o | o 27
12|@Es R mEmmAs| 3 | 11| 13 | 4| o | 425 124w &8 wmRAs | 2 | 10 | 2 4 | 1 26
13| MaE BE mEEAE | 2 | 6 59 | 25 | 3 | 424 13|=2 »# ek 1 | 3 19 1] o 20
14| A% =8 memmxz| 3 | 11| 158 |66 | o | 418 13|x BA maEAE | 2 | 5 18 2 | o 20
HEATR:S:! wmRLAE | 2 | 10 51 2 | 2 | 412 15|@m 2% mEEAE | 2 | 6 14 4 | o 18

TRYVREE (%) =HBR-1TH x 100 BEER=72vIBA+TOv I BA+Y—THBA
T £ U t
B ke rus | 8| 1 # S B ke rus | 5|7 # S
# # B £
1=z %7 geprxgl 1 | 3 19 6.33 1 |mm 2% mEEAE | 2 | 6 4 0. 67
2 |AE = mEgmAs 3 | 1 66 6. 00 1| % 25 gRAEAE 1 | 3 2 0.67
3 |BF K BT RFE 1 5 27 5.40 1|80 Bx BEEAREXRE 1 3 2 0.67
4 (Y8 BfE FIRILKZE 2 10 52 5.20 4 [IMRIR RE REREKRE 2 6 3 0.50
5| B ERAEAS 1 | 3 15 5.00 4|k &S mEEAE | 2 | 6 3 0.50
5 = = Ak 1| 3 15 5.00 6 |#m m EaKE 3 | 13 6 0. 46
AE TS geprLel 1| 3 14 4.67 7 |md g mEginAz 3 | 1 5 0. 45
8 |mm ¢ EAKE 3 | 13 57 4.38 8 |4 #£8 wRWAE | 2 | 10 4 0. 40
9 |ma mRiL mEgfAZ 3 | 1 48 4.36 8 |k A A | 2 | 5 2 0. 40
10|MaE 2E mamEAE | 2 | 6 25 417 8 |t W mmmnkz 1| 5 2 0. 40
HNECEES EAaKE 3 | 13 52 4.00 11|5% B® gEaxy 3 | 13 5 0.38
NEEE =S ERAEAS 1 | 3 12 4.00 12|E p= Atk 1| 3 1 0.33
13|& =% EEAEAZ 1 | 3 1 3.67 12|K8e fam ek 1 | 3 1 0.33
13| K%e f2m gefA 1 | 3 11 3.67 128K fEx gemrAz 1| 3 1 0.33
15K HA REBKRE 2 5 18 3.60 121% K& BRIk 1 3 1 0.33
12y bHEYDTEYIRERE (K) =BR-dHBtEy b 1y hHEYDTOVIRERE (X) =BR-HEEY b
H—JHRXK
B e sz | B Slalsln| s 2 I B sz | B Sle |55« %
f Bl L|x|R|®|R|% I Bl E] L] ®|#
1|zE % mEWAE | 2 | 9 |27 | 4 | 5 | 3 |167] [1|mmE wH@ EAKE 3 [ 12 [2a [ 17| 4 | 3 [192
1|wF sz ek 1 | s | 2| 2| 4| 4 |167] |2|me mm mEgmaas| 3 | 11 | 45 | 32| 4 | 9 |56
3 |AE = mEmmxz| 3 | 11| a8 | 3 | 8] 2 |163| |3|mnws EAKE 3 | 13 |128| 8 | 16| 26 |73.4
4|m% BE EaKE 3 |36 | 6 |15] 0 |50 |4]mm= amzrxz 1 | 3 |5 | 1] o | 4 |33
5 | X% R memakz| 1 | 5 | 16| 1| 4 | o |125] [5|xI BRT mEgmmxs 3 | v | | 4| | 9 |25
5|F m= amzaxzl 1 | s | s | o | 5 | 1 |12s] |6|mEm = gemaAs 1 | 3 | o | 6 | 1 | 2 |22
7|8 s mEwxz | 2 | 10|28 2| 5 | o |16l |7|nmux amzzrxz 1 | 3 |28 | 5] 3| 5 |77
8 |=m ww gemaxzl 1 | s | | o | 5 | o |1a| |s|lEx = Al 1| 3 | 17| 8 | 6 | 3 |64
9 |Em sm= gEaaxz 1 | 3 | 8| 1| 4| 1 |oe7 9 |k BE mEmiksz| 3 | 11 | 64 | a4 | 13| 17 |633
10|Em 25 EaKE 3 | 13|50 | 3| 8| 1 |os]| |w0|rE s wmEwAz | 2 | 10| a5 | 2t | 14| 10 622
11|25t EAKE 3 |3 | s | 3| 6| 2 o3| [11]mnen mRAs | 2 | 10 | 50 | 24 | 14| 12 |620
12|6E 2% wmwkz | 2 |10 |30 | 3| 4| 2 |eo| [i2|Emm s wemaAz 1 | 3 | s2 | 15| 9 | 8 |60.9
12|H@ <5 mEmaxz| 3 | v |4 | 0 | a1 |eo| [13lEE en saiExz | 2 | 6 |20 | 5] 5 | 9 |603
14| eE RE sk | 2 | 6 | 17| 1| 5 | 3 |ss| |1a|mm Ak 3 | 13| 50 | 30| 11| 18 |60.2
15| g @A maExz | 2 | 6 | 28| 1 | 4| o |87| |15k ma maEis | 2 | 5 | a0 || 3| o1 |sns
H—ITMER (%) =(H—ERXIT—ZXAX100+E x25— k= x25) +T# H—TLI—TRME (%) =(FY[E] x 100+ [B] x50) ~$T#k

KEAZEDZEFER.

ABPFEEAHBRNL—R—LBRICTRELET .



